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+ rent
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+ indirect buéiness taxes —
included in fina] prices)

. personal income = national income
* - -—-—-\\
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*+ transfer payments to households
4 ; — indirect business taxes
— COrporate ir;come taxes
— undistributed corporate profits

‘personal disposable income = personal income —

grow;th in potential GDP = growth in fechn’ology +
Trrs " Wg(growth in capital)
where:

. W, =labor’s percentage share of natiqnal in'come
W, = capital’s percentage share of national income
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personal taxes’

growth in per-capita potential GDP = growth in technology + W(growth in the

capital-to-labor ratio)
where:
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" cost of basket at current prices
cost of basket at base period prices
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—-2vered cost at the beginning of the last year
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current ratio = current assets

it current liabilities :
s
uick ratio = Sash + short-term marketable securities + reCGlVﬂb €
== current liabilities
receivables turnover = —Credit sales
average receivables _
365 average receivables
number of days of receivables = =

receivables turnover  average day’s credit sales

3 cost of goods sold
inventory turnover = -
average inventory

_ 365 _ average inventory
_ number of days of inventory = inventory turnover  average day’s COGS
! urchases —> Lo(d+ DoV
. ' payables turnover ratio = averagz trade payables ‘
E average payables
number of days of payables = o =

payables turnover ratio  ‘average day’s purchases

operating cycle = average days of inventory + average days of receivables

‘ ; avet days
e _ (average days average days ) _ (average )
eh conversmn oyele = (of receivables) ( of inventory of payables

e i
% discount = (acefzztu:aluznce)

; oo (facevalue —price\ (360 _ ¢, .. 360)
discount-basis yield = ( Tt vilie )( ) =. % discount x

days days
money market yield = (faCe Valu.e - prlce) ( 360
price days

1

holding period yield x ( 360 )
days

M—oﬂ %\EQJ
£ face valu i
bond equivalent yield = ( e ‘ pnce) ( 365
<Th price days to maturity

Losk of ok Yoy L Tty (355)
365

e ohsc.
(— cost of trade credit = (1 + —2discount )dmpastdiscoum
-'—_-—_‘_v

A sk hode m@bb i 4% B g
wekund  from

2 | days past discount =

i) i toun B e RO number of days aﬁﬁhe end of the discoweriod
(‘;— &3 holding period return = e“d o p -period valye
210 nek LD beginning-of: -period valge ~ !
\/{‘\m.t{o'lOﬂ'ﬁO‘B : : =m_’1-Pt"Po+DiV:
daygg peat dose ‘ P, R
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: yariance from historical data: g2 .Zi (Rt = P)z
ton 1ol =L
T
"y > (R, - R)z
¢ variance from historical data:s? = ‘5L -
' -1

anpe variance!

R S{[R,, - R, [R;2 -] )
Mce from historical data: Cov, , = t=1 s ) _ ‘
Cov, , _Q_‘)

comelation: P13 T 5. Xo.

sandard deviation for a two-asset portfolio:
-_—_____—————-' . ¥

§o§+2wlw2Cov,'2

L ATl R 77
o, = {wlo}+wjaj+ 2w W;0102P12 ywicttw

g | : E(Ry) — By
equation of the CML: ERp) =Ret | ™ opr op
. : Op )i
ERp)=Rp (B R )

bl i = systematic 1 c risk
Ol risk = systematic risk + unsystematic 11sk.

2~ Pimktogmy ‘
Okt ! mkt

; - Ry
Capi oz .B(R) =R '*‘ﬁi[E(Rmk‘) R \
Wi asetpricing model (CAPM): ECY ™ 22— Vo 1ol couily {\fg/w"”"*

i a
i — initial margif _ )

T 1- maintenanceé ma

| | tock prices _
Pice.we; sum of ¢ —=d for splits
w= of stocks in index adjustet ™ |

: number e
) (numbcr of shar¢s outstan )]
e < outstanding
) cap-weighted Sl z[:([ (p ) (numbcr of shares ou
| | ¥ [\ pric €pase year

x base year index value
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preferred stock valuation model: P, = k—p
P
one-period stock valuation model: P, = T+E T1+k
ook e c

D, _ Dyx(1+g)
k.-g~ k. -8

infinite pén'od model: P, =
[

multistage model:

i?0= 2y Dz—-2-+...+ iy B
(+k)  (1+k) (1+k) (14K

‘where;

D,
P, = K, — .and D, is a dividend that will grow

at the constant rate of g, forever

: .
: i . Py ‘K.%/? QDMJ PWJM
cw:— o

A o&wiﬂﬂaj pmdfau.}' vt
expected g;owth rate: g = (retenuon rate)(ROE)

_ A _ market price per share
trailing P/E = gpgover previous 12 months

market price per share
forecast EPS over next 12 months

Jeading P/E =

market value of equity _ market price per share
book value of equity ~ book value per share

P/B ratio =
B~

where:

book value of equity =common shareholders’ equity
= (total assets — total liabilities) — preferred stock

.- market value of equity _ market price per share
P/S ratio = total sales sales per share

market value of equity " market price per share
cash flow cash flow per share

P/CF ratio =

enterprise value = market value of common and preferred stock
+ market value of debt

— cash and short-term investments
©2018 Kaplan, Inc.
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Ocys= oL AN

annual sales
average receivables

365
P ales outstanding = T turnover

'. daYs
cost of goods sold

venfory turnover = average inventory

s o 365
aays Of inventory ont .ha.nd inventory turnover

. purchases —————= "(p)(n% + Ainv>
payables turnov average trade payables

365
payables turnover ratio"

qumber of days of payables =

revenue .
average total assets

total asset turnover =

revenue
average net fixed assets

fixed asset turnover =
— ———

revenue
average working capital

working capital turnover =
i S VAT S

H‘I"iditf Ratios:

current assets
current liabilities

Current ratio =

cash + marketable securities + receivables
current liabilities

‘I‘Iick,r_aﬁo =

@sh ratiq = cash + marketable securities
current liabilities

cash + marketable secuntles + receivables -

defones. .
% — average daily expcndltures

ber of days
sk cq les days of mventory) (num )
Version cycle = ( days sale ) ( ey oF payables
£y i
s°lv- o outstanding
en.?y'n.aﬁosz
b 5 . .
| d% = total debt '
‘- d»: s total shareholders’ equity
| B ..
| 't to'capifa'l L. total debt

ldebt
total debt + total sharcholders equity

R
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Foncs pogeble = ¥
total debt
total assets

Voabtm@q %o&sc ~ @»cm

debt-to-assets =
R e

i ial ] " average total assets
a- e = .
ARSI average total equity

s
Nt G S Yo
carnings before interest and taxes” = e
idterest paym@ /M"‘— e ol

e

earnings before interest and taxes + lease payments
interest payments + lease payments

interest coverage =
e

fixed charge coverage =

Profitability Ratios:
e _ net income
net profit margin = “yevenue
: i gross profit
gross profit margin = —Jevenue
; ) operating income EBIT
operating profit margin = evere Of Tevenue

. _ EBT
pretax margin = ‘revenue

net irhcome

return on assets (ROA) =, average total assets

net income + interest expense (1 — tax rate)
average total assets

return on assets (ROA) =

* operating income EBIT"

rating return on assets = 5
ope_—_______g average total assets ° average total assets -

G e __EBIT
#  return on total capital average total capital

net income

return on equity = .
: average total equity

. netincome — i
return on common equity = preferred dividends
e i average common equity

— het income available to common
average common equity

Free Cash Flow to the Firm: .

FCFF = net income + noncash charges + [cash interest

fixed capital investment — working capital invels);;i:t (1 — tax rate)] —
FCFF = cash flow from operations + [cash inte ‘

fixed capital investment rest paid X (1 — tax rate)] —

B o s o
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{Cash Flow to Equity:

£ FCFE = cash fl . i
£ F ow from operations — fixed capital investment + net borrowing

common-size income statement ratios = {COme statement account

sales
common-size balance sheet ratios = 2alance sheet account
total assets
common-size cash flow ratios = cash flow stafenﬁent account
Tevenues - _
original DuPont equation: ROE = (net profit ( * asset ) (leverage)
margin / \turnover/\ tatio

extended DuPont equation: - ROA R &"h ' _ﬂe’w'a‘j g

05 = (2 5me) () RO (e (o o)

basic EPS = — net income — preferred dividends .
weighted average number of common shares outstanding

diluted EPS = ' .
convertible convertible l
[net income — gr e.t:rr;d + [prefcrred-] + ( debt )(l—t)
IVICEndE dividends interest

weighted shares from ./ shares from " shares '\
+| conversionof |+ conversion of | + issuable from

average _
shares - conv. pfd. shares conv. debt stock options

Coefficients of Variation:
tandard deviation of sales
CV.sales = © mean sales

standard deviation of operating income
mean operating income

CV operating income = —

standard deviation of net income
mean net income

CV net incomé =

Inventories:
' inventory + purchases — COGS

. = beginning
ending inventory . P
FIFO COGS = LIFO COGS ~ (ending LIFO reserve — beginning LIFO reserve)

e (V-7

iy 7 PO e + L0 eowe. ()

g\\ég ‘I:n = (oM ¥ DL rquxe.Ll,O
FiFo Rt oo = L\FO RE+ LIFO "M‘(-"'T)

©2018 Kaplan, Inc.
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Long-Lived Assets:
. — lue
sistohilined s cost — salvage va
ght-line depreciation —efol life
DDB depreciation = ( ) ted depreciation)
epreciation —efullife (cost — accumula p

units-of-production depreciation =
original cost — salvage value
life in output units

x output units in the period

accumulated depreciation
annual depreciation expense

average age =

i, B i historical cost -
total useful life = annual depreciation expense

ending net PP&E
annual depreciation expense

remaining useful life =

DL D«é \iE> 7P
eMe DTA
—
\cl)( L‘.Q‘ﬂ) Deferred Taxes:
income tax expense = taxes payable + ADTL — ADTA

% Cmmdmg amt—
T %wﬁ) e, DU L\i:iiahb/iifs p@u CP vede x dnued w“" Qw e
Rede 0

the balance sheet value )

the market rat(e% ( f the |
interest expense = X of the liability at
;'\QN‘@ Mﬂk ( e the beginning of the period
= Gmevhial o ds e = int- Ocp mt. pecl
= —L_ﬁi—%-? Pcrformancc Ratios:

Peelen ine - __CFO _
cash flow-to-Tevenue = hertevenue

SR e 3 -
R Yt R R TR X

OQQ h turn-on;assets = CFO

g P\w‘\ M - cash ¢ average total assets

oesyn oGk 3&) ke CFO
PV ((’-’5% M cash return-on-equity average total equity

. _ CFO
_cash-to-InCOME = . o ting income
cash flow pér share = — CFO-—preferred dividends
weighted average number of common shares
i
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_ _CFO
febt cOVETABE ™ ‘total debt

rage = CFO + interest paid + taxes paid
interest COVErag interest paid

3 CFO
reinvestment = o, cp 5aid for long-term assets

i

' — CFO
~ debt payment = o Tong-term debt repayment

| ___CFO
dividend payment = ‘gisdends paid

CFO .
i i ing activities
investing and financing = Tip Gutflows from investing and ﬁnallicmg .
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= real risk-free rate + expected inflation rate

ty = nominal risk-free rate
+ default risk premium
+ liquidity premium
+ maturity risk premium

d ntCICSt rate on a securl

annual rate = (1 + periodic rate)™ — 1

cffective
continuous compounding: e~ 1=EAR )
P Od\nl,u\“j olue. = ?\lﬂéﬁ*rcﬁ“wlﬁ * (] Ar
PVperpernity = 7Y % sy ( ¥ M)
== ~EV ol onn- Lue = PV e& ovel- ann. % L\
Fv=PV(1 + /YN L\
Ch sounted of bwm(\uﬂl‘:( 2% |
il ey g‘a(w;): o&xk%& U"P%Jl ’% et mk NWMI
Gt 1RR 2 dr e vale NPV e :

s i ___CiF_?_7+ +(—;|_—1——T
genemlformulafortheIRR 0=ChK TFIRR (H_Ii{R) e w&.ulb o W‘J&_Cd{m

D 360 N?:Qlwgn‘f%% ;

: iald = — X — in N )
bask discount yield =7 Time ot uﬁm@)jaw Ly Ak e \5[
3 TLwik> ™M J Q_of\ o 1
—~Py+D _‘P]+Dl -1 - (J\@n@){a\ y 1w s ?yk\)fvl ‘
ho]dingpedody.ield=_lzl___P.Qo_-—-—l-_T T ’Twmlﬂdo MN(J‘%@*@Q"“L _Jé W // u‘
j 65/t »CDMP"W“‘J‘"Q N fomﬁ@e LV‘MM |

flecti 1 '1(-1=(1+I-IPY)3
effective annual yie 8(907 - “ Sum oi;zu A o [
. P, . g3t

360 -
mw[ %) -
money market yield = 2 (7 o - ( tx Tep

-—

—

-

s PN W — )
ZX:
Population mean: = ——N—"
| , Fok
X
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